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ACT Pre-TEST: 9th Graders 

Since there are 10 questions you get 10 minutes. Do your best! Place the CAPITAL LETTER in the box 

provided. 

 

 

 

 

 

 

 

 

 

1. A pattern exists among the units digits of the powers of 7. What is the units digit of 750? (Note: 

The units digit of 2,401 is 1.) 

A. 1 

B. 3 

C. 4 

D. 7 

E. 9 

 

2. A map of Nelson County is laid out in the standard (x, y) coordinate plane below, where the 

center of the county is at (0, 0). A cell phone tower is at (5, 4) and Esteban’s house is at (10, -

2). Each coordinate unit represents 1 mile. The tower’s signal range is 10 miles in all 

directions. The strength of the tower’s signal to Esteban’s house depends on the straight-line 

distance between his house and the tower. What is the straight-line distance, in miles, 

between Esteban’s house and the tower?  

F. √11 

G. √17 

H. √29 

J. √41 

K. √61 



 

 

3. The blood types of 150 people were determined for a study as shown in the figure below. 

If a person from this study is randomly selected, what is the probability that this person has 

either Type A or Type AB blood? 

A. 
62

150
 

B. 
66

150
 

C. 
68

150
 

D. 
73

150
 

E. 
84

150
 

 

 

4. The monthly fees for single rooms at 5 colleges are $370, $310, $380, $340, and $310, 

respectively. What is the mean of these monthly fees? 

F. $310 

G. $340 

H. $342 

J. $350 

K. $380 

 

 

5. On a particular road map, 
1

2
 inch represents 18 miles. About how many miles apart are 2 towns 

that are 2
1

2
 inches apart on this map? 

A. 18 

B. 22
1

2
 

C. 36 

D. 45 

E. 90 

 

 

6. Given 𝑓 = 𝑐𝑑3, 𝑓 = 450, and 𝑑 = 10, what is c? 

F. 0.45 

G. 4.5 

H. 15 

J. 45 

K. 150 



 

 

 

7. If 𝑓(𝑥) = (3𝑥 + 7)2,  then 𝑓(1) = ? 

A. 10 

B. 16 

C. 58 

D. 79 

E. 100 

 

 

8. The shipping rate for customers of Ship Quick consists of a fee per box and a price per pound 

for each box. The table below gives the fee and the price per pound for customers shipping 

boxes of various weights. 

 

Gregg wants Ship Quick to ship 1 box that weighs 15  

pounds. What is the shipping rate for this box? 

F. $9.75 

G. $16.50 

H. $19.75 

J. $20.00 

K. $24.50 

 

 

9. The table below shows the number of cars Jing sold each month last year. What is the median 

of the data in the table? 

A. 13 

B. 16 

C. 19 

D. 20.5 

E. 23.5 

 

 

 

 

10. In which of the following are 
1

2
,

5

6
,  and 

5

8
 arranged in ascending order? 

F. 
1

2
<

5

8
< 

5

6
 

G. 
5

6
<

1

2
< 

5

8
 

H. 
5

6
<

5

8
< 

1

2
 

J. 
5

8
<

1

2
< 

5

6
 



K. 
5

8
<

5

6
< 

1

2
 

 


